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UNIVERSITY EXAMINATION 2016/2017

SCHOOL OF PURE AND APPLIED SCIENCES

DEPARTMENT OF PHYSICAL SCIENCES

BBM/BCOM/BEDS

VIRTUAL CAMPUS

UNIT CODE: BMA3102
  
           UNIT TITLE: BUSINESS STATISTICS II
DATE: MARCH 2017    


SUPP /SPECIAL                        TIME: 2 HOURS
Instructions: Attempt Question ONE and ANY other TWO Questions.

1. a. The number of overtime hours worked per week by 130 men of the maintenance 


       department of a power and lighting company are as shown.
 i .  Find x 








(1 mark)
ii.   Find the mean number of overtime hours giving your answer correct to 2dp. 









         

(3 marks )
	No. of overtime hours
	0 – 2.5
	2.6 – 5.0
	5.1 – 7.5
	7.6 – 10.0
	10.1 – 12.5
	12.6 – 15.0

	Frequency (f) 
	31
	48
	26
	14
	8
	x


b. i.  Given that x = {1, 3, 7, 13, 21} is the cumulative data for the number of punishment hours  given to a student in 4 years. Calculate the standard deviation.










 



(3 marks)

      ii. Find the range and the quartile deviation of the following data

 
15.6, 24.2, 46.4, 145.7, 70.1, 86.2, 133.2 



(4 marks)
iii.  The mean of five numbers is 15 and the mean of further eight numbers is 2. Calculate the mean   of all thirteen numbers.                                   
(4 marks)
c. For a set of 20 pairs of observations of the variables x and y, it is known that [image: image3.png]X x = 250



 , [image: image5.png]Ly =140



 and that the regression line y on x passé through (15,10). Find the equation of the regression line y on x and use it to estimate y when x=10.









(6 marks)
d. The table below shows distribution of mass of  students in form 4 class.
	Mass kg
	35-39
	40-44
	45-49
	50-54
	55-59
	60-64
	65-69

	No. of students
	12
	21
	22
	23
	20
	12
	5


Using 52 as working mean, Calculate

i) The actual mean mass  of the class. 




(5 marks)
                ii) The standard deviation of the masses



(5 marks)
2. The following table shows the time, to the nearest minute, spent reading during a particular day by a group of school children.



(20 marks)
Time



10-19
20-24
25-29
30-39
40-49
50-64
65-89

Number of children   
    8 
  15
  25
  18
   12
   7
   5
i. Represent the data by a histogram and comment on the shape of the distribution.
ii. Find pearson’s coefficient of skewnes
3. i. In physics experiment , a bottle of milk was brought from a cool room into a warm room. Its temperature yoc was recorded at t minutes after it was brought in, for 11 different values of t. the results are summarized as:


[image: image7.png]


 ,[image: image9.png]Yt =1804



 ,[image: image11.png]24.5




 ,[image: image13.png]Xy =205



 .

a. Calculate the equation of the line of regression of y on t in the form [image: image15.png]y =a+bt




b. Explain the practical significance of the value of a.
c. Use your equation to estimate the values of y at t=4.5 and t=20.0
d. State, with reason, which of these estimates is likely to be more reliable.
iii. The experimenter plotted a graph of y against t, but used only the data in the table below

Time t (minutes)
3
3.4
3.8
4.2
4.6
5

Temperature
17
18.3
18.6
18.9
19.3
19.4

Plot this graph and on it draw the line of regression
4. The data below shows the number of packets of French beans picked weekly from a shamba in 10 weeks 

	Week 
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	No of packet 
	3
	3
	10
	13
	16
	14
	12
	9
	7
	6


a. Plot the data on graph 






(5 marks)
b. Calculate the three- weeks moving averages



(5 marks)
c. Plot the three-week moving averages against weeks on the same axis as in (a) above. 








(5 marks)
d. The price of beaf in 1985 was sh.16 per kg and in 1986 was sh. 30. Calculate 

i. The price index with 1985 as a base




(3 marks)
ii. The relative index







 (2 marks)
5. The table below shows the masses of form 4 students in a school. The masses were recorded to the nearest kilogram.
	Mass(kg)
	Class boundary 
	Midpoint  X
	Frequency  f
	d=X-A
	fd
	cf

	40-44
	
	
	5
	
	
	

	45-49
	
	
	12
	
	
	

	50-54
	
	
	18
	
	
	

	55-59
	
	
	32
	
	
	

	60-64
	
	
	20
	
	
	

	65-69
	
	
	10
	
	
	

	70-74
	
	
	3
	
	
	

	
	
	
	
	
	
	


a. Complete the table.






(5 marks)


i. State the modal class






(1 mark)


ii. Calculate the mean mass






(2 marks)


iii. Draw a cumulative frequency for the data above


(4 marks)
Use the curve to estimate


i) Median








(2 marks)

ii) The lower quartile







(2 marks)

iii) the upper quartile







(2 marks)
Find the:
i) the interquartile range






(1 mark)

ii)   the interquartile deviation





(1 mark)
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